1964 4F HUKHE [4] 3 [4] 4k

PL(X1, Y1)i Po (X0, ¥2), Py (Xs, ¥3), Pa(Xg, ¥a) &5, SRAEXD

X, +0 X, +0 X, +1
X, = X, = =
l 22 2 20 3 20
7 Nt _Yat
Y1 > Yo B 3T T,
1
x =X py oy, Xy Xetl X
2 2 4 2 8
X _4 X _2 X _1 X _2
R T R B
Ya Yo _Ya 1 Yo
===+14dY === =22 _
Y1 2 Yo R Y3
Ly 28,8 42
Y 5 S Y1 5:Y2—5-y3—5
RO B AT
n[2.8) p(L4) p[22) 548
35 35 35 35

P, L P, XFEREIFEE LS . PPy =2

P, & P, D X FEAEDFEIT L,

VU7 PP, PP, DififEIL

o

X + 2
X, = 32

Ys +2
Y4 = 32
1
2 2
y, 1 Y3
L4 = =29
g ‘a4 V4T
...... (%)

X X 5
X, =—3+1=1—‘E‘3+Z 16x, =x, +20 15x, =20

Vs 9
+1:1—g+§ 16y, =y, +18 15y, =18

y
A
o A
Py i
P,
P, i
P i
A, S NUA, oy
0 1 2



